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CLASS: 9™ Code:A
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MATHEMATICS

[Time Allowed :3 hours] [Maximum Marks:80]
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® Please make sure that the printed pages in this question paper are 14

in number and it contains 38 questions.
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The code No.on the right side of the question paper should be written by the
candidate on the front page of the answer-book.

fohely 99T T 3R ST YE A H Tgel 3T shATh fol@ell g |

Before beginning to answer a question, its Serial Number must be written.

3T 3T gRedE F @Tel 5/ 56 o oIS |

Don’t leave blank page/pages in your answer-book.

IR-GRETR & HARFT Hs =g e agr & el |3
HEIHATHR & oy g for@r 3w o Fid |

Except answer-book, no extra sheet will be given.Write to the point and do not
strike the written answer.

et 39T Aol ASK 9A-9F WX 3T ford |
Candidates must write their Roll Number on the question paper.
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® Before answering the questions,ensure that you have been supplied the correct
and complete question paper,no claim in this regard,will be entertained after
examination.

AT A 1. sT A T A 5@ F, &, 7, 9 iR 5§

2.8 -&% H 1§ 20 d%h TH -UH 3 & U gl1 & 18 d& TgiahedA(MCQs), T reg
3, Red U Ifd AT /3T 9T J97 W HEdr 19 AR 20 fAdua-as  3nuiRa
99T gl

3. @us-@ H 21 4 25 dh 3ifd o IAI(VSA) YR & &l 37l & 9T § |
4. @S- H 26 @ 31 Tk oY - 3AUA(S A) ThR & fid AT 3 & g 8 |

5. @Us-g #H 32 ¥ 35 d& 4 - 3AUU(LA) YR & UHI-UTT 3 & T § |

6. @S- § H W T&AT 36 ¥ 38 dov YUl eI 3UTRT IR -IR 3l & 92T & |
Tk  UHUT ETIT H HdRe Aheg Y &F 3 & T & fer a=m & |

7. gt gea AT & goiifeh, @US-@ & 2 YAl H, @US-IT & 2 AT H, GUS-H & 2 Y&l
H dar @s-% & 3 Ul H 3HdRe dded &1 U@ far = gl

General Instructions:

1. There are 5 sections A, B, C, D and E in this question paper.

2. Section — A consists of one mark questions from 1 to 20. 1 to 18 are Multiple Choice
Questions (MCQs),0One Word Answer,Fill in the blank, True/False and question numbers 19 and

20 are Assertion-Reasoning based questions.

3. Section-B consists of Very Short Answer Type (VSA) questions of two marks each from 21
to 25.

4. Section-C consists of short-answer (SA) type questions of three marks each from 26 to 31.

5. Section-D consists of Long-Answer (LA) type questions of five marks each from 32 to 35.
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6. Question numbers 36 to 38 in Section-E are case study based questions of four marks each.
Internal choice is given in each case study question of two marks each.

7. All questions are compulsory. However, provision of internal choice has been made in 2
questions of Section-B, 2 questions of Section-C, 2 questions of Section-D and 3 questions of
Section-E.

SECTION-A
gUs-sh
1. Between two rational numbers 1
(A) there is no rational number (B) there is exactly one rational number

(C) there are infinitely many rational numbers (D) there are only rational numbers and no
irrational numbers

ar IRAT FEgn3t & =
(A) P IRAT  FEAT AL (B) ¥ad Teh IRAY TEAT §
(C) IIRAT T T i INAT &AW § (D) hadl IRAT TEAW § IR HI5 JARAT &IV
el 8
2. Angles of a triangle are in the ratio 2 : 4 : 3. The smallest angle of the triangle is |
(A) 60° (B) 40° (C) 80° (D) 20°

Teh THST & IO T U 2 : 4 @ 3 g A &1 FG@ SIeT HI0T ¢ |

(A) 60° (B) 40° (C) 80° (D) 20°
3. Which of the following is not a criterion for congruence of triangles? 1
(A) SAS (B) ASA (C) SSA (D) SSS
T & @ Al Pegait H Fatr@a T H HEET T8 g2
(A) SAS (B) ASA (C) SSA (D) SSS

4. Two sides of a triangle are of lengths 5 cm and 1.5 cm. The length of the third side of
the triangle cannot be 1

(A) 3.6 cm (B)4.1cm (C)3.8cm (D) 3.4 cm

T freper & @ oMt & dar$ 5 A 3R 1.5 A §) B A Al gom H s A& @

Hehdll
(A) 3.6 cm (B)4.1cm (C)3.8cm (D) 3.4 cm

5. Three angles of a quadrilateral are 75°, 90° and 75°. The fourth angle is: 1
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(A) 90°

(B) 95°

(C) 105°

D) 120°

Teh IJHST & ciiel SIoT 75°,90° 3R 75° g1 =har T §

(A) 90°

6. Equal chords of a circle (or of congruent circles) subtend equal angles at the centre (T/F)

(B) 95°

(C) 105°

D) 120°

Teh g (AT FAWTHA gal) H FAW SAV e W HAGT HIOT F=11cdt § (T/F)

7. The base of a right triangle is 8 cm and hypotenuse is 10 cm. Its area will be:

(A) 24 cm?

(B) 40 cm?

(C) 48 cm?

(D) 80 cm?

Teh FHRIOT T[T T MR 8 AT 3R o7 10 AT §| ST &TFthel gram

(A) 24 cm?

(B) 40 cm?

(C)48 cm?

(D) 80 cm?

8. In a cone, if radius is halved and height is doubled, the volume will be:

(A) same

T % H, Il Bear ameh a7 & S 3R S e # & S, A 3R glem

(A) @&

(B) doubled

(B) G

(C) halved

(C) 3

9. The class-mark of the class 130-150 is :

(A)130

g 130-150 &7 Fol-ReaT &

(A) 130

(B) 135

(B) 135

(C) 140

(C) 140

(D) four times

(D) TR AT

(D) 145

(D) 145

10. To draw a histogram to represent the following frequency distribution:

Class Interval | 5-10 10-15 15-25 25-45 45-75
Frequency 6 12 10 8 15
The adjusted frequency for the class 25-45 is:
(A)6 (B) 5 (C)3 (D)2
IRERAT st
L — 5-10 10-15 15-25 25-45 45-75
S E— 6 12 10 8 15

& T Id &7 Figer & T, J97 25-45 H FARTST IRIRT 8

(A) 6 (B) 5 (C) 3 (D) 2

11. The smallest natural number is :

(A) zero (B) 1 (C) 2 (D) -1

qaH BIE Yl HEAT &
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(A)O (B) 1 (C)2 (D) -1

12. The coefficients of x?in 2—x2+x3 1

(A)-1 (B) 2 (C) 1 (D) -2

2-x2+x3 H x2 I 0T gHT |

(A)-1 (B) 2 (C) 1 (D) -2
13. Find the value of the polynomial 5x —4x?>+3atx =0 1
(A) zero (B) 1 (C) 2 (D) 3

x=0 T dgIg  5x—4x?+3 F AT AT AT |
(A) 0 (B) 1 (C) 2 (D) 3

14. The total surface area of a cone whose radius is > and slant height 2/ is : 1
A 2 (+) B) ( "'1) (C) (+) (D)) 2
W%@W@Wmﬁ,mﬁmgsﬂ?mmyﬁ gIa:

A 2 (+) B) ( "'1) (C) (+) (D)) 2
15. In triangle ABC, BC = AB and = 80°. Then isequal to: 1
(A) 40° (B) 80° (C) 500 (D) 100°
f33[sT ABCH,BC=AB3R B=80°%, ¥ AR &
(A) 40° (B) 80° (C) 50° (D) 100°
16. sum of all the interior angles of quadrilateral is -------------- 1

TG F T SHART F0 F DT & corrrreereeee

17. ABCD is a cyclic quadrilateral such that AB is a diameter of a circle circumscribing it and

= 140°, then is equal to: 1
(A) 80° (B) 50° (C) 40° (D) 30°
ABCD Teh Tehid dJelst & Toasl AB gd&h 9ReTd g & oar| & 3R ADC=140°, @ BAC
N g
(A) 80° (B) 50° (C) 40° (D) 30°
18. Angles in the same segment of a circle are.................. 1
Teh & JAES H T BT, gid @ |
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19. Assertion (A) if V2=1.414 , V3 =1.732 then V5=\2+V3 1
Reason (R ) Square root of positive number always exists

A) Both A and R are true and R is the correct explanation of A.

B) Both A and R are true but R is not the correct explanation of A.

C) A strue but R is false

D) A is false but R is true

fFSRUT (A) 3R V2=1.414, V3 =1.732 BT \5=+2+V3

d&h(R) U=ATcH (positive number) HE&AT &1 G31 Hel AT Al 8T &
A)A 3R RaE g § 3R R, A &T T@r earear gl
B) A 3X R @Er & dfthe R, AT TEY caream =g B

c) A BT & dfheT R 38T &

D) A 38T g olfthed R TcT

20. Assertion (A) A chord of a circle, which is twice as long as its radius, is a diameter of
the circle.
Reason (R ) The longest chord of a circle is a diameter of the circle
A)  Both A and R are true and R is the correct explanation of A.
B) Both A and R are true but R is not the correct explanation of A.
C) Aistrue but R is false
D)  Ais false but R is true

3ffaa (A) fRY g & Sftar, St sadr Bear & Qe o e @1 &, g9 @ o e B
a% (R) BFelY g 1 Ge ot Sftar g &1 A g §
A)A 3R RaE g § 3R R, A &T Tgr earear gl
B)A3R RaH @cx § Jfkad R, AFr Tdr =arear g8t gl
C) A &g g dfhd R3WT &

D) A 3T ¥ Afthed RTET ¢
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SECTION-B

gvs-g
21. Find six rational numbers between 3 and 4. 2
21.3 3R 4 F §g o IRAT FEIT AT RS0
22. Simplify (3 + V3 )2+ 2) 2
TS HITAT (3 +V3)(2 +V2)
OR
-1
Simplify : (125) 3
-1
T Aoy ;- (125) 3
23. Rationalise the denominator of 5 2
2+V3
1
7 F Y P IRAIHOT FITAT |
24. Evaluate 103 x 107 2
103 x 107 T AT AT HIToT |
25. Find the value of &, if x — 1 is a factor of p(x) , p(x) =x> +x +k 2
kT & AT AT, TS x - 1, p(x) FT TH IOEAES § p(x) =x>+x +k
OR

Use the Factor Theorem to determine whether x-3 is a factor of polynomial x*-4x>+x+67?

WWWWWWW%X-&a'g’crax3-4x2+x+6$rwgrrm@g%maﬁ?
SECTION-C
gus-a
26. Factorise 12x?> —7x + 1 3
IUTTGUS HITSTT 12x2 — 7X + 1

27. A hemispherical bowl has a radius of 3.5 cm. What would be the volume of water it

would contain ? 3

Teh HEHIMT ek Hr Far 3.5 QAT 81 38@H gl i AT fohdadr grefe
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OR
Find the Total surface area of a cone, if its slant height is 21 m and diameter of its base

1S 24 m.
Teh o T Fel JoSIT &Thel A ST, Jie sahT forder Fams 21 #ieX § 3R s&@

YR 1 ea1d 24 HeX B

28. Factorise 27Y3 + 12523

UTEUS  FHIfSIT 27Y° + 12578
29. Find four different solutions of the equation x + 2y = 6.

HHAIRIUT x +2y =6 & IR [fAeed gl AT ST
30. Find the value of &, if x =2, y =1 is a solution of the equation 2x + 3y = k.

k &7 AT AT T, TG x=2, y=1 FHEOT 2x + 3y =k T Th & &l
31. Factorise 8X3+ 27Y3+ 36X2Y + 54XY?

IUTAEUS HIST 8X® + 27Y3 + 36X2Y + 54XY?
OR
Factorise : 8X3+ Y3+ 2773 18XYZ
IUIAEUS FFFT  8X° + Y3 + 2725 - 18XYZ

SECTION-D

gus-y
32. Ifa point C lies between two points A and B such that AC = BC, then prove that
AC =1 AB. Explain by drawing the figure.

Ifg ve g &Y g3t A 3R B& & 38 ysR B § & AC=BC§, ar ey Hifaw
AC =% AB , ”IT ST HSISU|

33. In Fig. lines XY and MN intersectat O. If POY =90°anda:b=2: 3, find c.
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=T & @' XY 31 MN O W gfa=se &t g1 Ife POY=90° 3R a:b=2 : 3 &, ¢ Ad
ST

OR

A B
Iz?l‘:-
o | x J_H\'. [
c Q R D
3 # Ifg AB||CD, APQ=50° 3R PRD=127°,x 3R y A1d FIfSw]
A P B
5000\
/ b O
\
/// ]_2'?[)
<= _f:/Q_L ] . \ 3\ e
C R D

34. Find the area of a triangle two sides of which are 18cm and 10cm and the

perimeter is 42cm. 3
Teh TI8ST T Thel AT HIGTT foreehr ar et 18 J#AT AR 10 FT § Tur AT 42 J &
OR

Find the curved surface area of a right circular cone whose slant height is 10 cm

and base radius is 7 cm

Teh ofFd g A% T dsh Y5O &Ahel AT HIfSTT foraehr fader Farg 10 et 3R 3mar
& fear 7 aer B
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35. In quadrilateral ACBD, AC = AD and AB bisects A show that AABC =AABD.
What can you say about BC and BD? 5

G

TqlsT ABCD, AC=AD 3R AB, A&l FHIIHISIT &l ¢ G@sT fh AABC AABD. 39

BC 3iR BD& IR H FIT Fg Thd g7
G

SECTION-E

Yus-5

36. The triangular side walls of a flyover have been used for advertisements. The sides of the
walls are 122 m, 22 m and 120 m . The advertisement yields an earning of Rs 5000 per m? per
year.

Based on the above information and the given figure answer the followings
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(1) Perimeter of wall i8--------------- 1
(i1) Write down the Heron’s Formula.
(ii1)Area of triangular wall is ------

N —

OR

If company hired one of its walls with area 1680 m? for 3 months, then how much rent did it
pay?
oA & for waEs3ter fr By ass fr Sart &1 3gAer Far oar g1 SRt

T 122 #rex, 22 #ex AR 120 #Fex §1 Femo=t @ 9fd a¥ 5000 T 9fd m? & FAS
g e |

Vi=:

3RFd AHRT IR & TS 3T F 3R R FAeafaf@a geat @ 3 g |

(i) SR FT IRAT AT HIAT |
(i) BRI 1 g7 faf@ul
(i) TIYSTPR AR HT &Fhel AT HITIAT |
AYar
Ife Ul 1680 I3 HIeY &1AHA dTell Teh &laR &l 3 A & faw e oX &y &, ar 38 fohaar
feram &ar gram?
37. See Fig and write the following:
(1) The coordinates of B. 1
(i1) The point identified by the coordinates (-3, —5). 1
(i11)) Find the abscissa of point D and the ordinate of point H. 2
OR

Find the area of the rectangle formed by the line segment BD and the X-axis in the figure.
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T dEa  efaf@d geat & 31 ¢ |
(i) B & facene|
(i) federe (-3, -5) @RI UgHm I 4n foq|
(iii) g DT 81T T g HHr Hfe AT HfSC |
rgar
pfd & IWEs BD T X-31&T & AT §oled dTed AT HT &bl AT AT |

38. In a particular section of Class IX, 40 students were asked about the months of their birth
and the following graph was prepared for the data so obtained:
Observe the bar graph given above and answer the following questions:
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T 7}
o6t
" 51
2
2 47
W
= 3¢t
'E g ¥
l E S
=
pa
O
Months of Birth——=
(i) How many students were born in the month of November? 1
(i) In which month were the maximum number of students born? 1
(iii)) Name the months in which 4 students were born. 2
OR

Find the total number of students born from May to August.
38. @&T IX & Ush fAAY Ws #, 40 Ol ¥ 3e7eh SoH & FHglell & R H Yo7 -7 AT AR 9o

3eret & fov Aeafaf@a I dar Far = e
few 1T &3 3w & ¥ 3 R=Afaf@a weat & 397 &

A

T'y..

m6--

" 54

2

wn

s 31

£ 2

2

0 Dl—l—i}\ﬁbmﬂ‘wﬁo
E535555258:% 3%

Months of Birth—>

(i) IR &F AL A fohcdor faeznfiar &1 sfear gam
(ii) fope Y T 310 faeznfdar &1 s gam
(iii)mn@ﬁ%mwﬁaﬁ4ﬁaﬁﬂﬁwm§3ﬂl
3ryar
AT W 3OEd & o1 deT §U ST A Fel FET AT HSC
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